Name: Unit 5 Review Part 2
Monica
Geometry Period:
Date:

Outcome Question #s
#01: Argues with different types of reasoning in order to prove or disprove a statement 2
#04: Be precise in calculating and applying the length and midpoint of a segment 4
#06: Graphically and algebraically discerns if lines are parallel or perpendicular on a coordinate plane and can 4
identify the point of intersection of intersecting lines
#0Q7: Identifies polygons precisely and can determine angle sums and missing angle measures 3,7
#08: Concludes if two triangles are congruent and identifies corresponding parts 2
#10: Discerns and applies theorems and relationships about quadrilaterals and communicates those relationships 1,2,4,5,6

1) Inthe diagram below, quadrilateral STAR is a rhombus with diagonals Sdand TR intersecting at E.
ST=3x+30, SR=8x-5 5F=73z, TE=52+5, AR =4z 8, mZRTA = 5y- 2, and msTAS = Sy + 3. Find SR,

RT, and msTAS .
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2) Given: ABCD is a rhombus
Prove: AAEB = ACEB

g&}—oc\*e e Y\‘Q \

Qeuans

B

|. ABCD 1@ rhovv\‘oub‘
2.h % CR
3. LARE = /L(BE

D

4. BE = Bs
5. AAEB 2 ACER

. Giwven

2. Def. ot o rhombus
3. Te dm&:nah Lisect
the omaleb th o rhombus
4. Reflexive PfoPeij
5. SAS

3) The diagram below shows only part of a regular polygon. It is unknown how many sides the polygon has.

If x +y =312, how many sides must the polygon have?

X+ = 312
X’ v X+yxY =312
2x = 312
X= 150
(n-2)x180 - 150
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-360 = ~24n
1S = n



4) Quadrilateral ABCD has vertices A(1, 1), B(5, 2), C(6, -2), and D(2, -3). Use coordinate geometry to classify the
quadrilateral using the most precise name possible. [Use of the grid is optional.]
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5) Identify the statements below as true or false:

a) F:CL\& € _The diagonals in a parallelogram are congruent.

b) 1 .K!Z e The diagonals in a square bisect the angles.

‘Se A trapezoid has one pair of congruent sides.
d) TYU e The opposite angles in a rhombus are congruent.
e) TYU e The opposite sides in a rectangle are congruent.
f) TY'U e The diagonals in an isosceles trapezoid are congruent.

d.l £€ Al parallelograms are rectangles.



6) The measures of two consecutive angles are in the ratio of 3:7. What is the measure of the smaller angle?
Ay + Tx =10 .
3(12) = 54
lox =180
X = 1%

7) What is the value of x in the hexagon below? (Note: Figure not drawn to scale.)
(n-2) x 1¥0
(b-2) x 1&0
d ¥ 1 $6
126

IX+3AxFIS +3Ix+ X+20+ 102 +2x =720
Hx+ 137 = 7206

[lx = 593

‘X=55\




